INTERMEDIATE ALGEBRA  EXAM 3 T#* NAME

SHOW ALL WORK ON THIS TEST OR ON SEPARATE PAPER. Circle answers.
TURN IN ALL WORKSHEETS. CALCULATORS ARE PERMITTED ON THIS TEST.

In 1-8, simplify completely:
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In 6 - 7, rationalize the denominators:
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In 8 - 12, solve for X, and give interval notation if appropriate:

9, I3x - 9] < 12 10a) |3X - 9] < -12

b) |3X - 9] > -12
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11. |Xx + 6| > 6 12, lx*3
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In 13 - 16, solve for X, check if necessary:

13. (X + 3)2 7 14, X2 -6Xx-2=0
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15. X (X - 6) = -10 16. X-3=/X+3

17. Find the diagonal of a rectangle whose width is 8 ft, and whose
length is 15 feet.

18. The guy wire to the top of a of a pole is 73 feet long. If it
reaches the ground 20 feet from the base of the pole, how tall
is the pole? (Nearest hundredth, if necessary!)
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